Math 1210: Worksheet #4 Fall 2017

Name: | A#: Section:

(8] 1. Let f be a function whose graph of y = f(z) is given below.
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Fill in the following.

(a) List all z where f is not continuous: _\ » < > “ , &

(b) List all z where f is left-continuous, but f is not right-continuous: Z
(c) List all z where f is continuous, but not differentiable: ___ = 7
(d) _lim /@ = © Al 6O == 0
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[2] 2. Find a function f and a number a such that

J'(a) = lim = L 1n(3}(ja ~1)+4) -1
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3. Find values of a and b such that the function

{ cos ! (m—ll) , forz <3
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btan‘l( , forz >3
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is continuous everywhere.
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4. Compute the derivative. Do not simplify.

d vt sec(t) _
dt (l + tan(3t + 1))
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